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Geography Essay: Demographic Issues.
Part a) Explain the factors that determine population structure. [8 marks]
The population structure of a country, whether youthful or ageing is often determined by the development of the country. Furthermore, this is vastly influenced by the political and religious beliefs of the regions.
First of all, we can see that poorer countries generally have a more youthful population. This is due to many different factors. Firstly, this youthful population is due to a very high fertility rate, for example in Sub-Saharan Africa women tend to have over 6 babies in their lifetime, compared to less than 1 in many MEDCs. This high birth rate can be due to the fact that these LEDCs are very poorly industrialised and not very urbanised, with 50% of the population living in cities in the Congo. This lack of industrialisation means that families need to have many babies to have enough workforce to run their inefficient farms. This phenomenon is aggravated by the high infant mortality rates, for example in Uganda over 1 in 10 babies will die before the age of 5, thus families have many babies to compensate. Another reason for the high birth rates in LEDCs is the poor access to contraception, this is partly due to local religions that don’t allow it or bring lots of stigma and shame to the idea of contraception, but mostly due to the remote villages and difficult access to family planning and contraceptives. One of the main reasons for the difficulty of access to contraceptives is the lack of government initiatives to make the population aware and in a position to use contraception, for example in Ghana the government has taken so little initiative due to its lack of possibilities caused by corruption and poverty that NGOs have stepped in to spread awareness and make contraception readily available. Finally, we can see that the lack of education, specifically with women due to lack of possibilities open to women means that most women get married and start having babies very early from about 15 or 16 years of age. For example, we can see that in the Congo in rural villages 1/6 of women are literate. Furthermore, this lack of education means that women cannot understand the implications of said fertility on their bodies.
However, in MEDCs, we can often observe the complete opposite – an ageing population. WE can observe that these countries have generally achieved the final stage of the Demographic Transition Model and are starting to have a declining population. In other words, the birth rates in these countries have become very low and fertility rates are close to 1, for example 1.4 babies per woman in Britain. Furthermore, we can see that great improvements in medical fields and health have meant that the average life expectancy of these countries is very high, for example in Europe the average life expectancy is between 75 and 80. This high life expectancy, coupled with the low birth rate means that the baby boomers of the early 2000s and the 1980s are ageing in large quantities while there are less and less babies being born. We can thus observe an ageing population.
In conclusion, we can see that in most cases MEDCs have ageing populations and LEDCs have youthful populations. From this we can infer that population structure is linked to the development of a country.
Part b) Evaluate the impact of youthful populations on development. [12 marks]
In the case of youthful populations, the development of a country can be heavily influenced. It can have positives and negatives such as industrialisation, urbanisation and high unemployment rates.
First of all, we can see that youthful populations are generally found in LEDCs like India or South Africa. These youthful populations can speed up the rate of development of a country. This is due to the high amount of working age people that decrease the dependency ratio. Furthermore, this abundance of population of working age means that due to the industrial development of a country, less workforce is needed in rural areas for farming and thus the workforce will urbanise in search of higher paying more industrial jobs. For example, we can see that in India the high rate of urbanisation of around 4%, is due to higher efficiency in farming and industrialisation, leading to high migration to the cities in search of higher standards of life.
However, this rapid urbanisation means that in many cases the cities cannot keep up and we can see the formation of slums on mass. For example, Dharavi in India, this megacity has undertaken a rapid migration from the rural areas. This means that there was the formation of a slum built on an old rubbish dump to accommodate the large flow of migration. The issues with these slums are that the quality of life is very low; open sewers and lack of clean water mean that diseases spread rapidly and health is low.
However, although there are many issues with this rapid urbanisation, the industrialisation of these countries permits the development of medical and health services. Thus, we can observe a rising quality of life, wealth due to the higher paying jobs and the creation of a middle class. Furthermore, in these developing and industrialising countries the economic growth stimulated by the higher workforce, urbanisation and industrialisation can be very high. We can see this through India with about 8% to 10% economic growth per year. Finally, we can infer that this youthful population will further stimulate the economy and health standards and wealth will rise greatly in the future.
In conclusion, we can say that although youthful populations can often have negative short-term issues such as the low living conditions in slums and high unemployment, the long-term effects are very positive as we can see a powerful increase in standards of life and in the economy of the country.






Continued

HISTORY DOCUMENTS: China and the world from 1949 to the end of the twentieth century. 
Study Documents A and B.
Part a) How useful are Documents A and B for a historian studying the changing relations between China and the USSR between 1949 and 1976? [8 marks].
These documents are useful in understanding the changing relations between China and the USSR between 1949 and 1976 as these two documents are from two different opposing ideologies from two different times in China.
Document A is useful because it shows us that China and the USSR were in a state of co-operation during the early 1950s. The text in the document – ‘Study the Soviet Union’s advanced economy to build up our nation’ suggests that China’s relations with the USSR were very good at this time as we can see that the Chinese image of the USSR and its knowledge was viewed very highly. Furthermore, this document shows us economic co-operation between the two nations. However, this document is limited as we do not get an understanding of the evolution of Chinese and Soviet relations over time.
Document B is useful as it gives us a good understanding of the Chinese point of view towards the USSR at this later time. This is made clear through the very harsh description of the USSR from the Chinese point of view – ‘international exploiters and oppressors of today.’ Furthermore, we can see that the socialist Chinese view the USSR as a bad image of socialism – ‘The superpower which flaunts the label of socialism.’ From this we can infer that the tensions shown in the document are partly in relation to China’s dismissal of the USSR as a truly socialist country – one that promotes a negative image of socialism that directly affects China. However, this document is also limited in understanding the evolution of the Sino-Soviet relationship as it does not display any evolution, it is just a point of view of the moment and this source is a speech of propaganda thus we can infer that the Chinese point of view is gravely exaggerated and manipulated to show a good image of China and a very bad one of the USSR.
These documents combined are extremely useful as from them we can see a complete flip in relations between the Chinese and the Soviets, from co-operative and friendly in Doc A to hostile and dismissive in Doc B.
In conclusion, these documents are useful in understanding the tensions and relations between the Soviets and China due to the opposing points of view at different points in the Cold War.
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Part b) Using Documents A and B and your own knowledge, evaluate the role of China in international relations during the Cold War. [12 marks].
During the Cold War, China had a very small role on international relations as the bulk of the Cold War was between the USA and the USSR. However, China’s change of point of view during the Cold War shows us that it did play a minor role in the outcome of the Cold War.
At the beginning of the Cold War we can see that China and the USSR were allies. Furthermore, we can see in Doc A that there was co-operation on a large scale between this economic and social connection between China and the USSR – ‘Study the Soviet Union’s advanced economy to build up our nation.’ We can infer that this Sino-Soviet connection was fuelled by the socialist ideas that were shared by these two nations. Furthermore, the Chinese ruler looked up to Stalin and idealised him as a figure of socialist power. Thus, we can evaluate that this link was very strong and that the Chinese were in a position to oppose the USA in unison with the USSR in an attempt to fight capitalism.
We can also see from both docs that China was in the middle of industrialising its economy and that it did not have the same amount of international influence as the other two great superpowers. In Doc A we can observe that China is shown as smaller and learning from the powerful, industrialised USSR – a sort of idealised view of the USSR.
However, we can see that China changed its point of view of the USSR towards the end of the Cold War. This was because the USSR started taking advantage of its position as a superpower and belittling China and the rest of the socialist countries to try to save itself by cutting down on the aid and security that it was providing to the socialist countries. Doc B shows the understanding of the Chinese – ‘The USSR has dispatched its armed forces to occupy its ‘ally’ Czechoslovakia’. This shows us how the USSR took advantage of its allies.
Finally, we can see that China took its position with the third world in opposition to the capitalist USA and also against ‘socialist’ USSR. We can see that this helped the USA as the USSR no longer had China as a powerful socialist ally but instead China was turned against the USSR, thus improving the power of the small third world block in the Cold War.
In conclusion, we can say that China had little impact on the main block of the Cold War and in addition it fortified the small third world block and aided the USA against the USSR.
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